KEYWORTH CRICKET CLUB - 1996 SEASON

President: A Copson Chairman: A Elliott

Vice Presidents: B Baker, B Cannell, B Coyne, J Disney, A Gladstone, H G Gray, J Hartley, G Heeley, J Keeling, A Morris, G Musson, F Palmer, M Stewart, M White, A Wood.

Hon Vice President: Mrs M Hinchliffe.Social Sec: R A BakerGen Sec: C AndersonFixture Sec: J ChildsTreasurer: J Woodford1st XI Captain: S KingVice Capt: R BakerEvening League Capt: J Dring2nd XI Captain: S DaftVice Capt: N Palmer & D FletcherScorer: J Greaves

Groundsman: M White. Umpires: M Elliott, J Keeling, J Kitching & S Pick

Review of the Season:

AGM at The Key club 25 January 1996.

Won the Senior KO Cup and lost in the final of the Evening League Cup Final.

Visit from Radio Nottingham in June and Presenter, Steven Lynch was royally entertained by the tea ladies and President, Alan Copson.

Annual Dinner at the Trent Bridge Long Room 22 November and presentations included...

Chris Keeling Clubman of the Year Trophy was awarded to Andrew "Ted" Elliott.

Player of the Year – Barry Newby

2nd XI Player of the Year – Dave Hallam

William Gunn Batting Trophy for the Best Average & Highest Score Trophy – Barry Newby

2nd XI Batting Trophy for Best Average – Dennis Fletcher

Bowling Trophy for Best Average – Tim Hepburn

Best Bowling Performance Trophy - Phil Cockerton

2nd XI Bowling Trophy for Best Average – Alex Ball

Fielding Trophy – Sean King & Nick Palmer (most catches in Div 3)



1st XI after Senior Cup Semi Final win at Calverton over Chilwell, left to right, back row...Phil Cockerton, Simon Smith, Andrew Elliott, Barry Newby, Warren Dessaur, Sean King (capt) & Ian Kitchinson. front row...John Dring, Alex Ball, Tony Newby, Tim Hepburn & Rob Baker.

A night of CUP celebrations...



Shaun King

Simon Smith



Paul Keeling & Rob Baker



Jean Greaves



Warren Dessaur & Shaun King



Paul Branch



Tim Hepburn

KCC also on the PLUMTREE SIX-A-SIDE TOURNAMENT, Sunday 19 May 1996 beating the hosts in the final. KCC beat Ruddington CC & Cotgrave CC in Group A and Plumtree beat Ellerslie CC & Gotham Village CC in Group B.

1st XI LEAGUE MATCH RESULTS...

LINGUL MILL	I CII KESCE I S		
20.04.1996	BRAMCOTE	Н	Lost by 65 runs
27.04.1996	KIRKBY PORTLAND	A	Lost by 2 wkts
04.05.1996	PLUMTREE	A	Lost by 7 wkts
11.05.1996	FARNDON	Н	Lost by 4 wkts
18.05.1996	CLIFTON VILLAGE	A	Lost by 6 wkts
25.05.1996	GEDLING	Н	Won by 8 wkts
01.06.1996	UNDERWOOD	A	Lost by 7 wkts
08.06.1996	CALVERTON	Н	Lost by 7 wkts
15.06.1996	CHILWELL	Н	Won by 6 runs
22.06.1996	OLD PAVIORS	A	Lost by 34 runs
29.06.1996	GOTHAM VILLAGE	Н	Won by 76 runs
06.07.1996	PLUMTREE	Н	Lost by 8 wkts
13.07.1996	GEDLING	A	Lost by 43 runs
20.07.1996	CLIFTON VILLAGE	Н	Won by 6 wkts
27.07.1996	FARNDON	A	Won by 97 runs
03.08.1996	UNDERWOOD	Н	Won by 1 wkt
10.08.1996	CALVERTON	A	Won by 4 wkts
17.08.1996	CHILWELL	A	Won by 8 wkts
24.08.1996	OLD PAVIORS	Н	Match abandoned
31.08.1996	GOTHAM VILLAGE	A	Won by 16 runs
07.09.1996	BRAMCOTE	A	Lost by 22 runs
14.09.1996	KIRKBY PORTLAND	Н	Won by 101 runs

Midland Bank Nottinghamshire Village Cricket League SENIOR LEAGUE CUP...

1st rd	02.06.1996	NEWSTEAD ABBEY	A	Won by 126 runs
2 nd rd	07.07.1996	THRUMPTON	A	Won by 20 runs
q/f	04.08.1996	CLIFTON VILLAGE	A	Won by 34 runs
s/f	26.08.1996	CHILWELL	N	Won by 6 wkts
Final	08.09.1996	UNDERWOOD	N	Won by 2 wkts

Midland Bank Nottinghamshire Village Cricket LEAGUE Table – PREMIER DIVISION:

		Pld	W	L	Tie	NR	Pts
1	CLIFTON VILLAGE	22	17	4	1	0	274
2	PLUMTREE	22	16	5	0	1	252
3	GOTHAM	22	14	7	1	0	246
4	BRAMCOTE	22	14	8	0	0	230
5	CALVERTON	22	12	9	0	1	208
6	UNDERWOOD	22	11	10	0	1	192
7	KEYWORTH	22	10	11	0	1	182
8	OLD PAVIORS	22	9	12	0	1	178
9	GEDLING	22	8	13	0	1	159
10	FARNDON	22	8	14	0	0	156
11	CHILWELL	22	7	15	0	0	154
12	KIRKBY PORTLAND	22	3	19	0	0	113

HIGHEST SCORE: 273-5 KEYWORTH v NEWSTEAD ABBEY (02.06.96) **LOWEST SCORE:** 84 KEYWORTH v GEDLING (13.07.96)

LOWEST SCORE. 64 RETWORTH V GEDEING (13.07.90)								
1st XI BATTING	Averages (quali	fication : 6	Con	npletec	l Innings)			
		Matches		ings	Not Out	HS	Total Runs	Ave
B NE	WBY	24		24	4	106	663	33.15
S SM		23	2	22	5	50	486	28.58
	WBY	20		18	2	59	319	19.94
	LIOTT	25		24	2	76*	408	18.55
S KII		24		24	0	57	436	18.17
J DR		16		15	3	40	212	17.67
	ESSAUR	21		21	0	65	365	17.38
	BAKER	18		13	3	29	148	14.80
A BA		19		15	6	27	116	12.89
	PBURN	21		18	5	35*	137	10.54
	CKERTON	19		13	0	24	128	9.85
J CH		6		6	0	17	46	7.67
	CHINSON	25		16	4	15	83	6.92
Also Batted								
M DI	RING	1		1	0	26	26	26.00
G BA	KER	3		2	0	27	50	25.00
	ANCH	8		5	2	16	42	14.00
E LA	Y	2		2	0	27	28	14.00
S DA	FT	1		1	0	12	12	12.00
J GR	EATOREX	1		1	0	4	4	4.00
S ME		2		2	0	6	8	4.00
	LDREY	1		1	0	1	1	1.00
	TCHING	5		4	1	1	2	0.66
	OMAS	1		1	0	0	0	0.00
	JRTON	1		1	1	6*	6	
P LA		2		1	1	1*	1	
Best off the Bat.	••							
Runs	Player			Oppo	sition		Venue	Date
106	B NEWBY		V	KIRK	BY PORTI	LAND	N	14.09.1996
76*	A ELLIOTT		V	NEW	STEAD A	BBEY (Cup)	A	02.06.1996
76	B NEWBY		V		PAVIORS	` 1/	Н	24.08.1996
65	W DESSAUR		V	NEW	STEAD AF	BBEY (Cup)	A	02.06.1996
60	B NEWBY		V	BRA	MCOTE		Α	07.09.1996
59	S SMITH		V	BRA	MCOTE		Н	20.04.1996
57	S KING		V	GOT1	HAM		Α	31.08.1996
56	B NEWBY		V	CLIF	TON VILL	AGE	Н	20.07.1996
54	T NEWBY		V	NEW	STEAD AF	BBEY (Cup)	A	02.06.1996
54	B NEWBY		V		TON VILL		Α	10.05.1996
Leading "6" Hit	ters of the season	•••						
	ESSAUR	9						
S KII	٧G	8						
R A BAKER		5						
B NEWBY		4						
A BA		3						
	WBY	3						
	LIOTT	2						
	CKERTON	1						

Best Battir	ng Partnersh	ips of the Seaso	n						
Wkt	-	rtners				Opposition	on		Date
1^{st}	49 A	ELLIOTT & B N	IEWBY			FARNDO		27	7.07.96
2^{nd}	101 B	NEWBY & J DR	ING			KIRKBY	PORTLAND	11	.09.96
$3^{\rm rd}$	76 E I	LAY & S KING				GOTHA:	M VILLAGE	31	.08.96
4^{th}		DESSAUR & A	ELLIOTT			NEWST	EAD ABBEY		2.06.96
5 th		DESSAUR & T	NEWBY			NEWST	EAD ABBEY	02	2.06.96
6 th	76 S S	SMITH & J DRII	NG			GOTHA:	M VILLAGE	31	.08.96
$7^{\rm th}$	27 T	HEPBURN & P	COCKERT	'ON		OLD PA	VIORS	22	2.06.96
8^{th}	40 T	HEPBURN & R	A BAKER			CHILWI		15	5.06.96
9 th		HEPBURN & R	A BAKER				M VILLAGE		0.06.96
10^{th}		BALL & I KITC				PLUMTI	REE	06	5.07.96
	or Batting P	Partnership of th	e Season						
5 th	101 S S	SMITH & T NEV	VBY			UNDER	WOOD	08	3.09.96
1st VI DOV	1st XI BOWLING Averages (qualification 6 wickets or 60 overs)								
1 AIBOV	VLING AVE	rages (quannicat	Overs		aidens	Runs	Wkts	Ave	
	T HEPBUR	N	181.3	1716	30	572	38	15.05	
	P COCKER		178		32	558	34	16.41	
	I KITCHINS		219.4		34	708	40	17.70	
	T NEWBY	3011	140.1		23	418	21	19.90	
	S SMITH		24.4		3	123	6	20.50	
	A BALL		48.5		12	164	7	23.43	
	R A BAKEI	₹	130.4		16	515	21	24.52	
Also bowle		. •	100			0.10			
	B NEWBY		2		1	6	1	6.00	
	P BRANCH	[33		5	118	4	29.50	
	W DESSAU		15		1	89	3	29.67	
	R KITCHIN	IG	17		2	92	1	92.00	
	A ELLIOTT		2		0	14	0		
	S KING		1.3		0	4	0		
Best with t	he Ball								
	Figures	Player			Opposit	ion		Venue	Date
	7-21	P COCKERT	ΓON	V	CHILW	ELL		A	17.08.96
	6-24	P COCKERT	ΓON	V	CALVE	ERTON		A	10.08.96
	6-31	T HEPBURN	1	V	CLIFTO	ON (Cup)		A	04.08.96
	5-26	T NEWBY		V	GOTHA			A	31.08.96
	5-32	P COCKERT	ΓON	V	CLIFTO	ON		Н	20.07.96

1st XI CATCHING & STUMPING	NG:	
	Catches	Stumpings
B NEWBY	25	3
S KING	8	
I KITCHINSON	7	
W DESSAUR	6	
R A BAKER	5	
P COCKERTON	5	
T HEPBURN	5	
T NEWBY	5	
J DRING	3	0
S SMITH	3	
G BAKER	2	
A BALL	2	
M DRING	2	0
A ELLIOTT	2	
R KITCHING	2	
D BALDREY	1	
M BURTON	1	
E LAY	1	

2nd XI LEAGUE MATCH RESULTS...

04.05.96	UPPER BROUGHTON	Η	Won by 4 wkts
11.05.96	HOVERINGHAM	A	Lost by 28 runs
18.05.96	EPPERSTONE	Н	Lost by 55 runs
25.05.96	LAMBLEY	A	Lost by 83 runs
01.06.96	CALVERTON II	Н	Won by 1 wkt
08.06.96	EAST LEAKE	Α	Won by 13 runs
15.06.96	TOTON SYCAMORE	Α	Lost by 9 wkts
22.06.96	WOODBOROUGH	Η	Lost by 8 wkts
29.06.96	STANTON by Dale II	A	Lost by 6 wkts
06.07.96	UPPER BROUGHTON	A	Won by 7 wkts
13.07.96	HOVERINGHAM	Η	Won by 10 runs
20.07.96	EPPERSTONE	A	Won by 17 runs
27.07.96	LAMBLEY	Η	Lost by 5 wkts
03.08.96	CALVERTON II	Α	Won by 4 wkts
10.08.96	EAST LEAKE	Η	Lost by 26 runs
17.08.96	TOTON SYCAMORE	Η	Won by 6 wkts
24.08.96	WOODBOROUGH	Α	Won by 3 wkts
31.08.96	STANTON by Dale II	Η	Won by 7 wkts

South Nottinghamshire Village Cricket LEAGUE Table – DIVISION 3: Pld W L Tie NR Pts

		1 14	* *	L	110	1117	1 13
1	EAST LEAKE	18	14	3	0	1	224
2	TOTON SYCAMORE	18	13	5	0	0	212
3	EPPERSTONE	18	11	7	0	0	186
4	HOVERINGHAM	18	10	7	0	1	169
5	KEYWORTH II	18	10	8	0	0	158
6	LAMBLEY	18	8	10	0	0	157
7	CALVERTON II	18	7	10	0	1	140
8	WOODBOROUGH	18	7	11	0	0	136
9	STANTON by Dale II	18	7	10	0	1	134
10	UPPER BROUGHTON	18	1	17	0	0	44

2nd XI FRIENDLY MATCH RESULTS... 28.04.96 WOLLATON HALL

A Won by 14 runs

2 nd XI BATTING Averages (qualification: 6 Completed Innings)										
- 111 511	Matches Innings Not Out HS Total Runs Ave									
	D FLE	ETCHER	14		14	2	82*	402	33.50	
	J DRI		6		6	0	63	135	22.50	
	J GRE	ATOREX	13		12	1	53	232	21.09	
	E LAY	<i>I</i>	16		16	1	66*	315	21.00	
	J CHI	LDS	12		12	0	36	181	15.08	
		LDREY	16		16	1	27*	191	12.73	
	M BU	RTON	11		10	0	30	103	10.30	
	S DAI		16		13	2	37*	113	10.27	
	S THO	OMAS	15		14	2	25	115	9.58	
	T ING	HAM	11		9	2	26*	57	8.14	
Also Batte	ed									
	S MEI	EΚ	5		5	3	77*	109	54.50	
	RAB	AKER	1		1	0	41	41	41.00	
	A CO	WLARD	3		1	0	34	34	34.00	
	R KIT	CHING	7		6	3	33*	64	21.33	
	A BA	LL	2		2	1	18*	18	18.00	
	N PAI	LMER	16		8	6	9*	30	15.00	
	D HA	LLAM	10		8	3	24	63	12.60	
	I WOO	OLLEY	11		5	1	22	26	6.50	
	R RA	ГНВОΝЕ	2		2	0	7	7	3.50	
	M BR	OWN	1		1	0	1	1	1.00	
	КНО	RSLEY	1		1	0	1	1	1.00	
	R CO	OPER	1		1	0	0	0	0.00	
	J ROC	ERS	3		1	0	0	0	0.00	
	P LAY	7	6		1	1	1*	1		
Best off th	e Bat	•								
	Runs	Player			Oppo	osition		Venue	Date	
	82*	D FLETCHER		V	WOO	ODBOROU	JGH	Н	22.06.96	
	77*	S MEEK		V	UPPI	ER BROU	GHTON	A	06.07.96	
	66*	E LAY		V	TOT	ON SYCA	MORE	Н	17.08.96	
	63	J DRING		V	EAS	T LEAKE		A	08.06.96	
	60*	D FLETCHER		V	STA	NTON by	Dale II	Н	31.08.96	
	53	J GREATOREX		V	LAM	IBLEY		Н	27.07.96	
	51	D FLETCHER		V	HOV	ERINGH.	AM	A	11.05.96	
	50	E LAY		V	EAS	T LEAKE		Н	10.08.96	
		nerships of the So	eason							
Wkt	Runs	Partners					Opposition		Date	
1 st	69	D FLETCHER		RTO	N		HOVERING		13.07.96	
2 nd	58	E LAY & J DR					EAST LEAK		08.06.96	
3^{rd}	47	J DRING & J (CHILDS				EAST LEAK		08.06.96	
4^{th}	63	S MEEK & J C	GREATO	REX			UPPER BRO	UGHTON	06.07.96	
5^{th}	82	J GREATORE			5		LAMBLEY		27.07.96	
6^{th}	20	J CHILDS & N					HOVERING		11.05.96	
7^{th}	30	D FLETCHER					WOODBORG		24.08.96	
$8^{ ext{th}}$	40	S THOMAS &					WOODBORG		22.06.96	
9 th	19	S THOMAS &					EPPERSTON		20.07.96	
10^{th}	32	N PALMER &	I WOOL	LEY			STANTON b	y Dale	29.06.96	

Leading	"6"	Hitters	of the	season

ng "6" Hitters of the season...

J CHILDS 4
S MEEK 3
R A BAKER 2
D BALDREY 2
J GREATOREX 2

2 nd XI BOWLING Averages (qualification 6 wickets or 60 overs)							
3 (1	Overs	Maidens	Runs	Wkts	Ave		
A BALL	17.3	1	83	6	13.83		
D HALLAM	115	33	251	18	13.94		
R KITCHING	91	12	239	16	14.94		
I WOOLLEY	117.5	18	396	22	18.00		
M BURTON	54.1	9	200	8	25.00		
T INGHAM	104	22	339	13	26.07		
S MEEK	57.3	11	160	6	26.66		
N PALMER	97.3	4	432	11	39.27		
Also bowled							
A COWLARD	4	1	7	1	7.00		
R A BAKER	12	2	41	5	8.20		
J CHILDS	11	0	66	4	16.50		
J ROGERS	7	2	19	1	19.00		
S THOMAS	28.2	0	157	5	31.40		
E LAY	14	2	69	1	69.00		
J DRING	3.2	0	12	0			
J GREATOREX	4	0	14	0			
K HORSLEY	2	0	10	0			

Best with the Ball...

Figures	Player		Opposition	Venue	Date
6-57	R KITCHING	V	EAST LEAKE	Н	10.08.96
5-32	T INGHAM	V	HOVERINGHAM	A	13.07.96
5-41	R A BAKER	V	UPPER BROUGHTON	Н	04.05.96

2 nd XI CATCHING & STUMPING	G:	
	Catches	Stumpings
S DAFT	13	4
N PALMER	12	
D FLETCHER	6	
J GREATOREX	4	
J CHILDS	3	
T INGHAM	3	
E LAY	3	
S THOMAS	3	
D BALDREY	2	
M BURTON	2	
J ROGERS	2	
I WOOLLEY	2	
R A BAKER	1	
M BROWN	1	
J DRING	1	
R KITCHING	1	
P LAY	1	
S MEEK	1	

MATCH RESULTS in NOTTINGHAM EVENING LEAGUE DIVISION 1:

30.04.9	6 WEST BRIDGFORDIANS	Н	Lost by ?
07.05.9	6 ARNOLD	A	Lost by ?
21.05.9	6 PLUMTREE	Н	Lost by 8 wkts
04.06.9	6 CARRINGTON	Н	Lost by ?
19.06.9	6 WEST BRIDGFORDIANS	A	Lost by 9 wkts
25.06.9	6 ARNOLD	Н	Lost by 6 wkts
09.07.9	6 PLUMTREE	A	Lost by 59 runs
24.07.9	6 CARRINGTON	A	Lost by 6 wkts

LEAGUE TABLE:

		Pld	W	L	Tie	Bns	Pts
1	ARNOLD	8	6	2	0	4	40
2	PLUMTREE	8	5	2	1	7	40
3	WEST BRIDGFORDIANS	8	5	3	0	6	36
4	CARRINGTON	8	3	4	1	5	26
5	KEYWORTH	8	0	8	0	3	3

NOTTINGHAM EVENING LEAGUE CUP & Friendlies:

ELLERSLIE	A	Won by 2 runs
GOTHAM VILLAGE	A	Won 6 wkts
TOTON SYCAMORE	Н	Won by 88 runs
RADCLIFFE upon Trent	Н	Lost by 8 wkts
CAYTHORPE	Н	Won by 6 wkts
ARNOLD (Cup Final)	N	Lost by 25 runs
	ELLERSLIE GOTHAM VILLAGE TOTON SYCAMORE RADCLIFFE upon Trent CAYTHORPE ARNOLD (Cup Final)	GOTHAM VILLAGE A TOTON SYCAMORE H RADCLIFFE upon Trent H CAYTHORPE H

EVENING LEAGUE BATTING Averages (incomplete)

	Matches	Innings	Not Out	HS	Total Runs	Ave
W DESSAUR	9	9	2	54*	198	28.29
M DRING	2	2	0	38	55	27.50
A ELLIOTT	2	2	0	38	39	19.50
T HEPBURN	5	4	1	22	57	19.00
J DRING	11	11	1	37	159	15.90
T NEWBY	4	4	1	17*	43	14.33
S KING	12	12	0	36	60	12.00
S SMITH	6	6	1	32	60	12.00
J CHILDS	5	5	1	24	38	9.50
J GREATOREX	11	11	0	20	102	9.26
R A BAKER	11	9	1	21	57	7.13
S DAFT	3	3	1	10	13	6.50
J JANI	6	4	2	6	12	6.00
D BALDREY	6	4	0	18	22	5.50
I KITCHINSON	11	8	3	12*	27	5.40
A BALL	9	8	2	14	30	5.00
R RATHBONE	1	1	0	2	2	2.00
N PALMER	3	3	0	1	1	0.33
G BROPHY	1	1	0	0	0	0.00
J PAVIS	1	1	0	0	0	0.00
R KITCHING	1	0	0	0	0	
E LAY	1	1	1	4*	4	
P LAY	1	1	1	0*	0	

EVENING LEAGUE BOWLING Averages (incomplete)

	Overs	Maidens	Runs	Wkts	Ave
A ELLIOTT	1	0	8	1	8.00
N PALMER	2	0	14	1	14.00
W DESSAUR	3.3	0	33	2	16.50
A BALL	21.4	0	167	10	16.70
I KITCHINSON	22	0	195	9	21.67
T NEWBY	13	1	112	5	22.40
J JANI	26	0	171	7	24.43
R A BAKER	38	1	287	10	28.70
T HEPBURN	9	0	57	1	57.00
R KITCHING	0.3	0	4	0	
S KING	0.5	0	7	0	
S SMITH	3	0	27	0	

EVENING LEAGUE CATCHING & STUMPING (incomplete) Catches Stumpings

	Catches	Stumping
S SMITH	4	
S KING	3	
R A BAKER	2	
D BALDREY	2	
J CHILDS	2	
W DESSAUR	2	
J DRING	2	3
A BALL	1	
T HEPBURN	1	
J JANI	1	
I KITCHINSON	1	